
Included Items
• (1) Crossmember
• (2) Frame Rail Plates
• (4) 3/8 in. x 1 in. Bolts
• (4) 3/8 in. Flange Nuts
• (4) 7/16 in. x 1 in. Bolts
• (4) 7/16 in. Flange Nuts


	Blank Page

